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ANSWENR_ SHEET

Ad-Sovad: Numara:

1. Bit dizisi 101111Z00110100Z1010111 yi hexadecimal olarak gosterin (Z sayisi,

numaranizin son basamag tek is€ 1,)degilse 0 olacak)
{ Represent the bit pattern 101111200110100Z1010111 in hexadecimal notation.

(Zis1if the Iast dlglt of your ID number is odd, 0 otherwise.) }
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2. Isletim sistemlerinin 3 temel amacini birer ciimle ile yazimz. {What are the 3 basic
functions of an operating system? Explain each in 1 sentence. }
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3. Hexadecimal gosterimdeki 7ZADE ikilik sistemde nasil yazilir. (Z numaranizin son
basamagidir.) { 7ZADE is the hexadecimal representation for what bit pattern?
(Z is the Tast digit of your student number.) }

0444 4000 1010 1404 4410

4. @KJ lik biti nedir? { What is the parity bit for the bit patterns in question 1
and 3? "
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5. Oklid ysntemi ile ged(A,24) isleminin adimlarini gosteriniz. A 6grenci numaranizin
son iki basamaginin 42 fazlasidir.) { Show the steps of Euclidean Algorithm to
findged(A,24).A is the last two digits of your student numb@
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6‘ layabilen Flip-Flop tasarimi nasil olabilirdi, kisaca ¢izip agiklayimz. { How

“Wwould be a 2-bit Flip-Flop? Draw and explain briefly. }
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